SCHOOL BASED ASSESSMENT 2023
MODEL PAPER
GRADE 8
SCIENCE PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : el o i (¥

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.

-L):/JV&U'/(L?/M u’.‘.‘”f:c”_/);-f

3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: Covid-19 is caused by:
te o J19—$’»’/2J@‘
a) bacteria E/:*;J; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: How many parts of human brain are there?

Sl 2 L o QU A Ui
(a)2 Iy (b)3 04 ()4 o (d)s &L
Question No.2: Which of the following parts of the nervous system detect stimuli?

?ﬁ;b/J//oE{}WVu/K(VJ;) 2 A i
(a) Effectors ]}@.y (b) Receptors ]/J’?/..J

(c) Inter neuron L‘J’/).’.: /”.’y (d) Motor neuron uu,j /",/

Question No.3: Which part of the brain is used to solve a mathematical question?
?‘gt‘ndlﬁ’!éLL/J’/JI/LUJ’LJWVU/KéL; :3;‘;Jlr

(a) Cerebellum (Ldﬁ (b) Cerebrum f/'"ﬁ

7
(c) Pons 7y (d) Medulla oblongata L”f*'(J}TU)f}:'




Question No.4: Identify the non-inherited character.
_q/ugg S ews? Sow & 4 A Uiy
(a) eyes color J/ Ju,mj'/f (b) height )}'

(c) walking B (d) earlobes o Ju(
Question No.5: Meosis takes place in formation of which type of cells?
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(a) Eyes cells Sy u,wl‘/f (b) Skin cells "
(c) Hair cells Sy Al (d) Sperm cells ):.’ 4

Question No.6: Which of the following environmental issue is resolved by using microorganisms?
e bl U e St & Uil & 008 2 QUL o = Ut U5 i 6 4 Uiy
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(a) Global warming u.'&/’} J’,K (b) Deforestation 5&({;”{)

(c) Pollution &}JT (d) Extinction S

Question No.7: At which of the following stages of cell-cycle, DNA replication occurs?
S’c‘-_&fﬁ'%ufuwdjuﬁ&/g/éfvw 7 A Uiy

(a) Prophase ﬁ’/.. (b) Telophase /;’ ,lj (c) Interphase ﬂ/’q (d) Anaphase /;’ [a;

Question No.8: Where the genes are located ?
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(a) Cytoplasm r)%,‘iﬂ/ (b) Ribosomes f,»,ﬂj (c) Chromosomes fy,»,/’/ (d) Centriole d?’./b’f/
Question No.9: Which one of the following diseases is spreading due to the ozone depletion?
%‘.d‘/ﬁégﬂf{&d}]ﬂd/kgd”u:’/au’:d}gjﬁ 29/7‘;Ji/
(a) Skin Cancer /5({)& (b) Tuberculosis L}) _“;: (c) Typhoid /”gi&/e’ (d) Cholera 2
Question No.10: Which of the following is the way to reduce air pollution?
?‘Lvu/:g}(’;/f/f;ﬂéw';uﬁwyp 110 A Jir
(a) Using public transport L‘/JW( K_bd,;j]/” _ﬂﬂ; (b) Using personal cars L’/JW[/{JU
(c) Burning of fosil fuel (e /J,j J/,’ (d) Using less electricity Q/le {(i
Question No.11: Which of the following gases is a greenhouse gas?
oo A Uiy Aol e s i 11 A Dy
(a) H,S HGL o (b) CO, AT 315 ik
(© 0, =T (d) SO, LT (s
Question No.12: Select the possible way to reduce air pollution.
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(a) Landfill (L /)};Lm}( (b) Volcanic eruption Lff?f Kuw JJT
(c) Incineration [;,/ﬁ/!//j}g (d) Reforestation 14 Kalﬁ’
Question No.13: Which of the following is a characteristic of chemical reaction?
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(a) No new materials are formed s o u:?/ &
(b) Mass changes into energy = dyz J:,Uf uf.' &L’!; JU
(c) Some amount of light is emitted < dyz O Cj’;/ U: a2 f:

(d) New materials are formed oy “& e &



Question No.14 : Identify an endothermic chemical reaction from the following.
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(a) Burning of fuel ua Kd,f (b) Decomposition of CaCO3 ﬁ/,;{dj JCaCOf;
(c) Ignition of gunpowder L 350 J/ (d) Use of fireworks JL’:"i Kl J)T
Question No.15: Which type of chemical reaction is shown by the following equation?

CaCO3 — CaO + COq,

?%Jfﬁw/(ﬁduﬂf‘fég{guu {Sfu’; :IS/JI}‘
C&COg — Ca0 + CO,

(a) Addition ﬁ 4 (b) Decomposition ﬁ»,,f 53]
(c) Neutralization ﬁ/lﬂ‘/b:{j (d) Exothermic s.«(/‘;)/gl

Question No.16: Which of the following acids is used in making detergents?
P gde»"v’u PP uf"»/”jw L u/:m/ Jis
(a) H, SO, S S (b) CH; COOH Ll Lo
(c) HNO; S i (d) HCI A J»guijg
Question No.17: Which of the following substances is used to decrease the acidity in the soil?
e b L LS e E S F E 5ol e S 17 A Uir
(a) Ammonium nitrate b}:{‘/‘/t (.’:,4 (b) Magnesium chloride /?’L’gﬁ%??
(c) Calcium hydroxide /)ylrﬂ)//?l[ Kfi)/ (d) Potassium chloride j&fu,g j Ly
Question No.18: When propellant fluid of aerosol vaporizes. What is its effect on product liquid?
?‘g s I .L.I/’ f;.)g b}’/’/j’,}/’ KUl ;‘L Clo o e A &LE;’;/,: KJ,V’;/J - :18/:‘; J!r
(a) Pressure increases < L“[? 2 ﬁ./“ (b) Pressure decreases < L“[? v { ':./“
(c) Pressure remains same < Gy (S ﬁ./n (d) Pressure becomes half < L“[? »J meﬁ‘/“
Question No.19: Aerosols are a mixture of:

U LMZIE/);Z O dyagl 119 £ Jiv
(a) solid or gas in liquid uﬁ él, ¢ u”.'.fL u’,ﬂ? (b) solid or liquid in gas Lf: Jf‘éb L uw);’
(c) liquid or solid in liquid e é(, ‘u’f? [ é(, (d) liquid or solid in solid o J};/ ‘J,;* L CZL

Question No.20: Which one of the following is a physical quantity?

?‘L/u};‘ Jé/ W U)(L e ‘_);5 oix* 20 / Jir‘
(a) Stress s (b) Intelligence _o.;[[)' (c) Length éu (d) Emotions :«LM
Question No.21: A science teacher wants to measure a very small amount of liquid in the laboratory. Which instrument he should use?
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(a) Beaker /? (b) Flask 6

(c) Pipette Lok (d) Measuring cylinder Jj;lz L? L,;.
Question No.22: What is the freezing point of water?

fe g)Lfl L3 Kd& :22/1} Jisy
(@) 0°C 0°C (b)10°C 10°C (c)20°C 20°C (d)30°C 30°C
Question No.23: When the bulb of thermometer touches any hot object, the mercury in the thermometer:
:d//;ﬁruf}fh/??%b/éaz{(/df%(}ﬂ/’_,e 23 A Iy

(a) expands o CL{ (b) boils % C.y (c) contracts ‘Lt’% (d) melts ‘L M



Question No.24 : Railway tracks have gaps between them to deal with expansion in which days?
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(a) hot days LU ¢ ys (b) cold days DALY
(c) snowing day u',f U’)) PP d/L =y (d) rainy days uf.' uj) I JJL
Question No.25: Which of the following lenses is used for correcting the hyperopia?
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(a) Convex lens ﬁj ‘fg,)/ (b) Concave lens /:.J ;:O/
(c) Contact lens /“J '_J,,gi,( (d) Convexo concave lens ﬁj,:(j/,)’:jj/

Question No.26: Identify the defect of human eye with the help of given diagram.
_‘_j:/u.lg‘;f Juu/ Lm}‘(del &k J(l/’l};”fd} 26 & Ui
(a) Short-sightedness d/J %/“ /';"'“:”3

(b) Color blindness ‘_f.fj;fu, ){ \

\ \ Image
(c) Long-sightedness d/J e /}.r--'*-
(d) Retina defectiveness LnyL,&/ ——
Question No.27: Which type of lens is used in magnifying glass?

?‘at‘ndL»"“l'/LjK(:’J/ufu’qu@GJ? :27/J|/
(a) Convex lens ﬁj ‘f.‘i// (b) Plano convex lens A Lf“(/f:&
(c) Concave lens ﬁj ,:6/ (d) Plano concave lens ﬁj):é/r:&

Question No.28: Identify the following diagram.
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(a) Thermal power station u:“';//;l, J}

>k
o b I A
(b) Wind power station u*‘:.“/ sl X y T
s b *
(c) Solar power station g~ sl Ay
s b *
(d) Hydro power station S 9y
Question No.29: Identify input device from the following.
/1/ o 'n J s it &f . /
- szng;.a,uw,uﬁ/gw S .29/Jl/
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(a) (b)
Question No.30: Tiny electronic circiuts used in electronic devices are known as:
3 b * . - y,
:ujééf:f/ uﬁ}?u_;{%Lugndtm U sl .ﬂ/’«?t 30 & Iy
Zn
(a) integrated circuit b J/ /’3 il (b) series circuit b J/ Ve
(c) parallel circuit b J/ d)];* (d) alternating circuit b J/ v@ﬁ'{
Question No.31: For performing experiments in space, large spacecraft are used. These are called:

Sl WU g e oS U e L LelF Uk 31 A
(a) Spacecrafts ufb‘.’u’/u:?,./ (b) Space shuttles };&Up
(c) Space stations //T,'b/ éﬂa (d) Space machines /.“}‘ &Up



Question No.32: What is the name of the instrument shown in the following figure?
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(a) Refracting telescope - e L}f 3,
(b) Spectroscope ,, e ,f:
(c) Reflecting telescope * - B,
(¢) Microscope N




